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Equazioni logaritmiche

1. log, x =-3 12. Iogé/,sx:4
° 2
2. log, x = 2 13.  log, x=-=
3 .3
3. Iogéx:E 14. log,x=1
N 3
4. logx = 0,01 1
5. log,x=1 15, 1000 X = =5
: 16.  log,g X =-1

6. log,x=- 17.  log (log x) = 2

° 18, | I -1)=1
7. logyx=-2 092(:()( ))

8 19. Inx==
2

Nlw

8. logg x=-
27

9. Iogﬁx:—Z

2. In(x+1)=-2
2. In(3x-4)=0
22.  Inx=2ln3x

Wl

_1 X
10. Iogzsx—E 23.  In3x+In==1n4
3

1 logyx=-> 2. In(x+1)=1+In 2x

4

25. 2log,(x+4)=log,(2-x)

2. log,x—-3 = %Ioga (3x—-4)

21, 2log,+/3x =log, (X - 4)

log, (10 - x) p

log, (4 - X)

29. log,|3x —1| =log,|X]

3. 3log, (x+2)-3log, (2x—-1)+log, 4-10g,9=0
31. log,(x—-5)+log,(x-7)+log,3=0

32, 2log, x +log, (x> +1) =log, (3 - X*)

28.

3. 2log,(x—1) +log, (x—2)=log, (x* —3x+2)
34. In(x+2)—|nx:2In%

35 log, (X + 2x%) - I091% =1
2

3. log, (x —2)+log, (x* —25) —log. (x—5) =1
3r. %Inlen3+ In (6 -,/ x+16)

2
38. 4(Iogli -5log, x+1=0
2 2

3.  (logyx)® +log,x—12=0
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4. logix-logZx=0

4. In°x-Inx-2=0

42. In*x-4Inx=0

43. In°x+Inx-6=0

4. In®x-Inx* +1=0

45, (Inx) (InxX*) +Inx* -9=0

46. (Inx)®-4(Inx)>-29Inx—-24=0
1+ logx logx + 3 11

logx -1 - 2 - 2logx 2

48. 4 2- 3 -2|1- ! =14
log, X log, X log, X

log,x+3 _ log,x-3 _ 5log, x
log,x-3 log,x+3 logZx—-9
50. |log,x +3|=5

51. /1+Iogﬁx:3

52. Iog} Iog} (5x+9)=0

3 3
53, (x? —1) 2°%*"2 =|gg, 2**!

47.

49.

5. In°x+Inx=0

5. In®x+2In*x-3Inx=0
6. |2Inx+1|=4

57.  Inx =logx

x? -1
X
5. In(e*+e)=2
60. In*x+2]|Inx|-15=0
61. Inx =1-1Inx

58. In =1ln2




